HOLIDAY WORK
S.6 GEOGRAPHY (2)

1. To what extent have geographical factors favoured the
development of fishing in Aftrica’s in land water bodies?

2. Account for the development on the fishing industry in either the
South East pacific or the North East Atlantic fishing grounds.

3. With reference to any one country from either the North West
Atlantic, discuss the impact in the fishing industry to the
development of the country.

4. Examine the challenges to the development of the fishing industry
in tropical Africa.

5. (a) Discuss the problems facing the fishing industry in either
Norway or Angola.

(b)Examine the measures being taken to overcome the problems in
the country mentioned in 5(a) above.

6. In developing countries its not lack of physical resources which is

primarily responsible for the low levels of industrial development.

Discuss.

7.. With reference to either one developed or developed country,
assess the significance of mineral reasons as a basic for industrial
development.

8. Examine the influence of industrial inputs and markets on changes in
the location of manufacturing industries in either USA or South Africa.

9. Account for the changing location of industries in USA.




2

10. Discuss the problems hindering industrial development in anyone

developing country.

11. Account for the development of forestry in any one country from
either the temperate or tropical region.
12.(a) Distinguish between temperate and tropical rainforests.

(b) Examine the challenges faced by forestry in any one country from
either the temperate or tropical region.
13. Assess the contribution of forestry to the development of either
Gabon or Sweden.

14. To what extent have physical factors influenced the location of
forests in either Canada or Swaziland ?

15. Discuss the problems facing the development of transport routes in
Africa.

16. Assess the importance of railway transport in the economic
development of any one country in Africa.

17. Examine the contribution of either the Rhine water way or the St.
Lawrence Seaway to the development of the respective countries.

18. The rapid population increase in the developing countries is more of
a liability than an asset” Examine the validity of the statement with
reference to any one country in Africa.

19. Population distribution is closely related to physical factors in the

less developed countries. Discuss.
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